## SEAA 2023-24 NC Need-Based Scholarship Program for Public Colleges and Universities Report to the Joint Legislative Education Oversight Committee

ELIGIBLE POSTSECONDARY INSTITUTION	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD	
NC Community Colleges				
ALAMANCE COMMUNITY COLLEGE	192	\$ 1,164.23	\$ 223,533.00	
ASHEVILLE BUNCOMBE TECHNICAL CC	329	\$ 1,085.38	\$ 357,093.00	
BEAUFORT COUNTY COMMUNITY COLLEGE	83	\$ 1,111.12	\$ 92,223.00	
BLADEN COMMUNITY COLLEGE	42	\$ 1,170.61	\$ 49,166.00	
BLUE RIDGE COMMUNITY COLLEGE	144	\$ 1,199.58	\$ 172,740.00	
BRUNSWICK COMMUNITY COLLEGE	93	\$ 1,376.94	\$ 128,056.00	
CALDWELL CC AND TECHNICAL INSTITUTE	224	\$ 1,180.73	\$ 264,485.00	
CAPE FEAR COMMUNITY COLLEGE	537	\$ 1,180.36	\$ 633,857.00	
CARTERET COMMUNITY COLLEGE	85	\$ 1,115.98	\$ 94,859.00	
CATAWBA VALLEY COMMUNITY COLLEGE	214	\$ 1,123.22	\$ 240,371.00	
CENTRAL CAROLINA COMMUNITY COLLEGE	260	\$ 1,173.14	\$ 305,017.00	
CENTRAL PIEDMONT COMMUNITY COLLEGE	830	\$ 1,176.45	\$ 976,455.00	
CLEVELAND COMMUNITY COLLEGE	146	\$ 1,151.28	\$ 168,087.00	
COASTAL CAROLINA COMMUNITY COLLEGE	210	\$ 1,281.23	\$ 269,060.00	
COLLEGE OF THE ALBEMARLE	75	\$ 1,049.20	\$ 78,690.00	
CRAVEN COMMUNITY COLLEGE	124	\$ 1,116.18	\$ 138,407.00	
DAVIDSON DAVIE COMMUNITY COLLEGE	211	\$ 1,117.70	\$ 235,835.00	
DURHAM TECHNICAL COMMUNITY COLLEGE	242	\$ 1,069.52	\$ 258,825.00	
EDGECOMBE COMMUNITY COLLEGE	87	\$ 989.85	\$ 86,117.00	
FAYETTEVILLE TECHNICAL COMMUNITY COLLEGE	508	\$ 1,160.66	\$ 589,619.00	
FORSYTH TECHNICAL COMMUNITY COLLEGE	554	\$ 1,199.57	\$ 664,565.00	
GASTON COLLEGE	234	\$ 1,197.91	\$ 280,311.00	
GUILFORD TECHNICAL COMMUNITY COLLEGE	826	\$ 1,130.57	\$ 933,853.00	
HALIFAX COMMUNITY COLLEGE	42	\$ 956.61	\$ 40,178.00	
HAYWOOD COMMUNITY COLLEGE	68	\$ 1,022.55	\$ 69,534.00	
ISOTHERMAL COMMUNITY COLLEGE	114	\$ 1,098.56	\$ 125,236.00	
JAMES SPRUNT COMMUNITY COLLEGE	63	\$ 936.00	\$ 58,968.00	

ELIGIBLE POSTSECONDARY INSTITUTION	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD	
JOHNSTON COMMUNITY COLLEGE	226	\$ 1,125.47	\$ 254,358.00	
LENOIR COMMUNITY COLLEGE	83	\$ 1,075.18	\$ 89,240.00	
MARTIN COMMUNITY COLLEGE	20	\$ 1,073.50	\$ 21,470.00	
MAYLAND COMMUNITY COLLEGE	29	\$ 1,589.41	\$ 46,093.00	
MCDOWELL TECHNICAL COMMUNITY COLLEGE	55	\$ 1,025.18	\$ 56,385.00	
MITCHELL COMMUNITY COLLEGE	144	\$ 1,108.92	\$ 159,685.00	
MONTGOMERY COMMUNITY COLLEGE	40	\$ 1,158.60	\$ 46,344.00	
NASH COMMUNITY COLLEGE	126	\$ 1,101.39	\$ 138,776.00	
PAMLICO COMMUNITY COLLEGE	10	\$ 954.60	\$ 9,546.00	
PIEDMONT COMMUNITY COLLEGE	48	\$ 1,102.77	\$ 52,933.00	
PITT COMMUNITY COLLEGE	415	\$ 1,142.85	\$ 474,286.00	
RANDOLPH COMMUNITY COLLEGE	147	\$ 1,244.97	\$ 183,011.00	
RICHMOND COMMUNITY COLLEGE	78	\$ 1,039.57	\$ 81,087.00	
ROANOKE-CHOWAN COMMUNITY COLLEGE	21	\$ 986.80	\$ 20,723.00	
ROBESON COMMUNITY COLLEGE	101	\$ 898.04	\$ 90,703.00	
ROCKINGHAM COMMUNITY COLLEGE	74	\$ 1,205.06	\$ 89,175.00	
ROWAN-CABARRUS COMMUNITY COLLEGE	338	\$ 1,073.71	\$ 362,917.00	
SAMPSON COMMUNITY COLLEGE	60	\$ 1,308.15	\$ 78,489.00	
SANDHILLS COMMUNITY COLLEGE	150	\$ 1,224.84	\$ 183,727.00	
SOUTH PIEDMONT COMMUNITY COLLEGE	112	\$ 1,150.36	\$ 128,841.00	
SOUTHEASTERN COMMUNITY COLLEGE	54	\$ 1,005.42	\$ 54,293.00	
SOUTHWESTERN COMMUNITY COLLEGE	117	\$ 1,175.82	\$ 137,572.00	
STANLY COMMMUNITY COLLEGE	109	\$ 1,030.72	\$ 112,349.00	
SURRY COMMUNITY COLLEGE	130	\$ 1,089.14	\$ 141,589.00	
TRI-COUNTY COMMUNITY COLLEGE	47	\$ 1,068.57	\$ 50,223.00	
VANCE-GRANVILLE COMMUNITY COLLEGE	119	\$ 1,106.11	\$ 131,628.00	
WAKE TECHNICAL COMMUNITY COLLEGE	1,343	\$ 1,144.11	\$ 1,536,547.00	
WAYNE COMMUNITY COLLEGE	170	\$ 1,223.88	\$ 208,061.00	
WESTERN PIEDMONT COMMUNITY COLLEGE	86	\$ 1,175.61	\$ 101,103.00	
WILKES COMMUNITY COLLEGE	159	\$ 1,294.91	\$ 205,891.00	
WILSON COMMUNITY COLLEGE	56	\$ 1,291.19	\$ 72,307.00	
Total	11,204	\$ 1,147.31	\$ 12,854,492.00	

ELIGIBLE POSTSECONDARY INSTITUTION	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD		
NC Community Colleges - Smoothing Transitional Funding*	-	•			
ALAMANCE COMMUNITY COLLEGE	18	\$ 1,295.66	\$ 23,322.00		
ASHEVILLE BUNCOMBE TECHNICAL CC	34	\$ 1,511.41	\$ 51,388.00		
BEAUFORT COUNTY COMMUNITY COLLEGE	5	\$ 2,104.80	\$ 10,524.00		
BLADEN COMMUNITY COLLEGE	5	\$ 1,298.20	\$ 6,491.00		
BLUE RIDGE COMMUNITY COLLEGE	6	\$ 1,686.00	\$ 10,116.00		
BRUNSWICK COMMUNITY COLLEGE	12	\$ 1,509.33	\$ 18,112.00		
CALDWELL CC AND TECHNICAL INSTITUTE	22	\$ 1,262.63	\$ 27,778.00		
CAPE FEAR COMMUNITY COLLEGE	41	\$ 1,325.87	\$ 54,361.00		
CARTERET COMMUNITY COLLEGE	5	\$ 1,295.80	\$ 6,479.00		
CATAWBA VALLEY COMMUNITY COLLEGE	31	\$ 1,269.74	\$ 39,362.00		
CENTRAL CAROLINA COMMUNITY COLLEGE	27	\$ 1,462.92	\$ 39,499.00		
CENTRAL PIEDMONT COMMUNITY COLLEGE	52	\$ 1,401.73	\$ 72,890.00		
CLEVELAND COMMUNITY COLLEGE	24	\$ 1,173.70	\$ 28,169.00		
COASTAL CAROLINA COMMUNITY COLLEGE	1	\$ 200.00	\$ 200.00		
COLLEGE OF THE ALBEMARLE	1	\$ 2,000.00	\$ 2,000.00		
CRAVEN COMMUNITY COLLEGE	8	\$ 1,289.12	\$ 10,313.00		
DAVIDSON DAVIE COMMUNITY COLLEGE	33	\$ 1,390.63	\$ 45,891.00		
DURHAM TECHNICAL COMMUNITY COLLEGE	11	\$ 1,230.09	\$ 13,531.00		
EDGECOMBE COMMUNITY COLLEGE	5	\$ 744.20	\$ 3,721.00		
FAYETTEVILLE TECHNICAL COMMUNITY COLLEGE	8	\$ 1,307.62	\$ 10,461.00		
FORSYTH TECHNICAL COMMUNITY COLLEGE	66	\$ 1,167.84	\$ 77,078.00		
GASTON COLLEGE	28	\$ 1,394.32	\$ 39,041.00		
GUILFORD TECHNICAL COMMUNITY COLLEGE	65	\$ 1,308.41	\$ 85,047.00		
HALIFAX COMMUNITY COLLEGE	3	\$ 1,746.66	\$ 5,240.00		
HAYWOOD COMMUNITY COLLEGE	3	\$ 700.00	\$ 2,100.00		
ISOTHERMAL COMMUNITY COLLEGE	18	\$ 1,480.77	\$ 26,654.00		
JAMES SPRUNT COMMUNITY COLLEGE	8	\$ 1,390.87	\$ 11,127.00		
JOHNSTON COMMUNITY COLLEGE	32	\$ 1,270.00	\$ 40,640.00		
LENOIR COMMUNITY COLLEGE	13	\$ 1,307.46	\$ 16,997.00		
MARTIN COMMUNITY COLLEGE	2	\$ 1,693.00	\$ 3,386.00		
MAYLAND COMMUNITY COLLEGE	2	\$ 2,458.50	\$ 4,917.00		
MCDOWELL TECHNICAL COMMUNITY COLLEGE	8	\$ 1,554.75	\$ 12,438.00		

ELIGIBLE POSTSECONDARY INSTITUTION	NUMBER OF STUDENTS	AVERAGE AWARD	Т	TOTAL AWARD	
MITCHELL COMMUNITY COLLEGE	22	\$ 1,119.40	\$	24,627.00	
MONTGOMERY COMMUNITY COLLEGE	3	\$ 1,495.66	\$	4,487.00	
NASH COMMUNITY COLLEGE	15	\$ 1,366.60	\$	20,499.00	
PAMLICO COMMUNITY COLLEGE	1	\$ 1,050.00	\$	1,050.00	
PIEDMONT COMMUNITY COLLEGE	6	\$ 1,218.00	\$	7,308.00	
PITT COMMUNITY COLLEGE	39	\$ 1,396.38	\$	54,459.00	
RANDOLPH COMMUNITY COLLEGE	18	\$ 1,322.88	\$	23,812.00	
RICHMOND COMMUNITY COLLEGE	11	\$ 1,108.18	\$	12,190.00	
ROANOKE-CHOWAN COMMUNITY COLLEGE	1	\$ 525.00	\$	525.00	
ROBESON COMMUNITY COLLEGE	3	\$ 1,345.00	\$	4,035.00	
ROCKINGHAM COMMUNITY COLLEGE	8	\$ 1,335.75	\$	10,686.00	
ROWAN-CABARRUS COMMUNITY COLLEGE	30	\$ 1,458.83	\$	43,765.00	
SAMPSON COMMUNITY COLLEGE	9	\$ 1,375.44	\$	12,379.00	
SANDHILLS COMMUNITY COLLEGE	12	\$ 1,830.58	\$	21,967.00	
SOUTH PIEDMONT COMMUNITY COLLEGE	13	\$ 1,336.53	\$	17,375.00	
SOUTHEASTERN COMMUNITY COLLEGE	4	\$ 1,648.50	\$	6,594.00	
SOUTHWESTERN COMMUNITY COLLEGE	13	\$ 1,517.46	\$	19,727.00	
STANLY COMMMUNITY COLLEGE	12	\$ 1,185.41	\$	14,225.00	
SURRY COMMUNITY COLLEGE	14	\$ 1,494.21	\$	20,919.00	
TRI-COUNTY COMMUNITY COLLEGE	7	\$ 1,053.42	\$	7,374.00	
VANCE-GRANVILLE COMMUNITY COLLEGE	8	\$ 1,232.37	\$	9,859.00	
WAKE TECHNICAL COMMUNITY COLLEGE	136	\$ 1,347.58	\$	183,272.00	
WAYNE COMMUNITY COLLEGE	14	\$ 1,135.85	\$	15,902.00	
WESTERN PIEDMONT COMMUNITY COLLEGE	20	\$ 1,147.15	\$	22,943.00	
WILKES COMMUNITY COLLEGE	13	\$ 1,394.84	\$	18,133.00	
WILSON COMMUNITY COLLEGE	3	\$ 614.33	\$	1,843.00	
Total	1,032	\$ 1,336.46	\$	1,379,228.00	
University of North Carolina System					

University of North Carolina System			
APPALACHIAN STATE UNIVERSITY	4,680	\$ 2,504.34	\$ 11,720,341.00
EAST CAROLINA UNIVERSITY	6,111	\$ 2,448.23	\$ 14,961,138.00
ELIZABETH CITY STATE UNIVERSITY	784	\$ 614.95	\$ 482,125.25
FAYETTEVILLE STATE UNIVERSITY	2,703	\$ 554.46	\$ 1,498,720.00

ELIGIBLE POSTSECONDARY INSTITUTION	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD	
NC A&T STATE UNIVERSITY	2,802	\$ 2,120.29	\$ 5,941,070.00	
NC CENTRAL UNIVERSITY	2,781	\$ 2,024.88	\$ 5,631,196.00	
NC STATE UNIVERSITY	4,775	\$ 3,316.03	\$ 15,834,054.00	
UNC ASHEVILLE	904	\$ 2,404.32	\$ 2,173,514.00	
UNC CHAPEL HILL	3,267	\$ 3,433.75	\$ 11,218,077.00	
UNC CHARLOTTE	7,685	\$ 2,514.27	\$ 19,322,205.00	
UNC GREENSBORO	7,105	\$ 2,462.39	\$ 17,495,311.00	
UNC PEMBROKE	2,641	\$ 581.68	\$ 1,536,243.00	
UNC WILMINGTON	3,135	\$ 2,461.81	\$ 7,717,799.00	
UNIV OF NC SCHOOL OF THE ARTS	124	\$ 3,628.99	\$ 449,995.00	
WESTERN CAROLINA UNIVERSITY	3,007	\$ 969.81	\$ 2,916,235.00	
WINSTON SALEM STATE UNIVERSITY	2,229	\$ 2,080.21	\$ 4,636,796.00	
Total	54,733	\$ 2,263.89	\$ 123,534,819.25	
University of North Carolina System - Summer 2024 Funding	580	\$ 410.00	\$ 237,800,00	
APPALACHIAN STATE UNIVERSITY	580		\$ 237,800.00	
EAST CAROLINA UNIVERSITY	340	•	\$ 235,000.00	
ELIZABETH CITY STATE UNIVERSITY	169	\$ 1,021.30	\$ 172,600.00	
FAYETTEVILLE STATE UNIVERSITY	444	\$ 571.62	\$ 253,800.00	
NC A&T STATE UNIVERSITY	117	\$ 1,000.00	\$ 117,000.00	
NC CENTRAL UNIVERSITY	310		\$ 270,600.00	
NC STATE UNIVERSITY	134	\$ 1,664.18	\$ 223,000.00	
UNC ASHEVILLE	91	\$ 1,958.24	\$ 178,200.00	
UNC CHAPEL HILL	190	\$ 1,060.00	\$ 201,400.00	
UNC CHARLOTTE	201	\$ 1,907.46	\$ 383,400.00	
UNC GREENSBORO	549	\$ 814.21	\$ 447,000.00	
UNC PEMBROKE	227	\$ 1,035.53	\$ 235,065.00	
UNC WILMINGTON	98	\$ 1,912.24	\$ 187,400.00	
UNIV OF NC SCHOOL OF THE ARTS	3	\$ 1,504.67	\$ 4,514.00	
WESTERN CAROLINA UNIVERSITY	291		\$ 179,000.00	
WINSTON SALEM STATE UNIVERSITY	134	\$ 1,873.13	\$ 251,000.00	

Total

3,878 \$

922.33 \$

3,576,779.00

ELIGIBLE POSTSECONDARY INSTITUTION	NUMBER OF STUDENTS	AVERAGE AWARD		TOTAL AWARD	
University of North Carolina System - Smoothing Transitional Funding*					
APPALACHIAN STATE UNIVERSITY	1,463	\$	538.92	\$	788,443.00
EAST CAROLINA UNIVERSITY	2,174	\$	366.70	\$	797,214.00
ELIZABETH CITY STATE UNIVERSITY	73	\$	610.86	\$	44,593.00
FAYETTEVILLE STATE UNIVERSITY	730	\$	194.67	\$	142,108.00
NC A&T STATE UNIVERSITY	623	\$	1,020.22	\$	635,597.00
NC CENTRAL UNIVERSITY	839	\$	369.99	\$	310,424.00
NC STATE UNIVERSITY	2,117	\$	608.57	\$	1,288,346.00
UNC ASHEVILLE	231	\$	334.07	\$	77,170.00
UNC CHAPEL HILL	1,385	\$	337.26	\$	467,102.00
UNC CHARLOTTE	2,409	\$	238.88	\$	575,462.00
UNC GREENSBORO	710	\$	915.13	\$	649,743.00
UNC PEMBROKE	381	\$	362.50	\$	138,113.57
UNC WILMINGTON	931	\$	289.64	\$	269,655.75
UNIV OF NC SCHOOL OF THE ARTS	61	\$	728.66	\$	44,448.00
WESTERN CAROLINA UNIVERSITY	857	\$	468.14	\$	401,194.00
WINSTON SALEM STATE UNIVERSITY	192	\$	547.71	\$	105,160.00
Total	15,176	\$	443.78	\$	6,734,773.32

**Smoothing-Transitional Funding.** Changes in the 23-24 formula were necessary for the transition from federal EFC to SAI. The transitional-smoothing funding ensured that continuing students remained whole and did not lose state funding because of the transition.